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N & 0l & Av S Z M A
20179 = =& 1 3 LB &l
R A= PRIy
g J|gotll E2 &3 =4
ool YWY Y= NAMY 8 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
Il Xl 6,102,251 6,004,879 97,372
= 30,400 40,000 A 9,600
Al 6,071,851 5,964,879 106,972
Jlgaotll 2 88 x4 1,311,805 1,241,805 70,000
2 Y= NLy |4 985,835 915,835 70,000
sSaJg sdX 985,835 915,835 70,000
308 XXIEHH SOl A 397,000 327,000 70,000
10 SII 2SOl CHetZ & = 0 & A& I 397,000 327,000 70,000
OUE|ITHARHEH SHAS(UHS)
20,000,000& 20,000 0 20,000
OALSAES NAAL(UHS) 50,000,000& 50,000 0 50,000
AMEM LA RE2Z XHAY 2H G 755,106 728,814 26,292
= 30,400 40,000 A 9,600
Al 724,706 688,814 35,892
AME™ LA 2 755,106 728,814 26,292
= 30,400 40,000 A 9,600
Al 724,706 688,814 35,892
SAMEE X ALY 108,386 90,094 18,292
201 LEt2A | 950 0 950
01 AtR 2t 2l | 950 0 950
O ATEH A Al 950 0 950
O & IH 150,000& * 3K 450 0 450
O=x(2¢g) 250,000& = 204 500 0 500
307 glz2tol ™ 103,456 87,514 15,942
03 QIZtHNHE2HHEX 54,456 38,514 15,942
O AR ZBAIR= 29l 54,456,000 54,456 38,514 15,942
402 2I2tXt=01 & 1,400 0 1,400
01 U2 E2ALE X (KM R) 1,400 0 1,400
O A EANSR= BRE 7Y
1,400,000& « 1CH 1,400 0 1,400
NS A2l 3 dst XA 58,000 50,000 8,000
= 30,400 40,000 A 9,600
Al 27,600 10,000 17,600
307 21201 & 58,000 50,000 8,000
= 30,400 40,000 A 9,600
Al 27,600 10,000 17,600
02 HAHFHANEEX 58,000 50,000 8,000
OXS - ARIE 2435 AtY 38,000,000& 38,000 50,000 A 12,000
= 30,400 40,000 29,600
Al 7,600 10,000 A 2,400
OXNA ALY A AL (2016 2HI, &AL
gl) 20,000,000& 20,000 0 20,000
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Jl e X2 ot

M HY2AZH (OIS D)

& 123l (Sl & &)
SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&

HY2HZH (OGN ) 35,340 34,260 1,080
Jl=&l 35,340 34,260 1,080
Jl=34 35,340 34,260 1,080
201 L Et2A | 16,140 15,060 1,080
01 AtR 22l | 16,140 15,060 1,080
o=l (JI&ZHl) 8,640,000& 8,640 7,560 1,080






